14 15 2 14N 99.635%
15N 0.305% 2
14.003074% 0.99635+15.000107x 0.00365=14.0067

(%) (amu)
14 99.635 14.003074
15 0.365 15.000107

4 2p(n=2 1=1) 3d(n=3 1=2)

I+
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5.486x 10™amu  0.511MeV
1.0072766amu 938.256MeV
1.0086652amu 939.550MeV

ZN Z-2 N-2 22 2
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m— = —_—=
At—0 At dt

dN _ N

dt

r_log2 0693
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cps

X 10

counts per second; cpm

10
20

x -4

1R = 1esu/0.001293g = 2.58x 10-4 C/g



rem

RBE =

0.94rem

AE/Am lrad = 1/100Gy
AQ/Am 1R = 2.58x 10 C/g
x RBE lrem = 1/100 Sv
x Qx N lrem = 1/100 Sv

1R

roentgen equivalent man

Vi 0.9%rad

lrad 1rem
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-4 0

2.014102amu
3.016049amu
4.002603amu
1.011268amu

4 1 X
0.018883amu x 931.5 MeV/amu
17.59 MeV
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